
všechna přípustná r € JR vypočtěte derivace funkcí:

r) -f(z) : (n2 +7r)r5;

f) /(") - sin2r2;

a) Í(t) : sint/i;

4 Í@): sin2 zi

e) Í(t): arcsin2e;

9 Í@): arctgt/i;

i) /(r) : la'cosc'

i) /(") : 'a3 '5tsc'

t) /("):ln(sin2r*2);
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: {6"? -t;
n) Í(n):ln(z* ,/3 +T);

o) .f(z) :er'a;

p) Í(r) :ln(e' *.**);

q) /(o) : sin2(r2 * 1);
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s) /('):7a'ts2''
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w) 
"f 
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Í(r) :6";

Í(t):ln(ra + n2 +t);

1) );

Í'(o):15'. (r2 *7t)La .(2t +7);

Í(") : 4:t'cos2t2;
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ť (") : 2 sin :t . cosr : sin 2z;
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Í'(") :2.sin(n2 * 1) .cos (r2 + t) .zt;

Í,(t) : 2,2 .|n2 .2:t . coLg:r _ ,,' . ,s;;
Í'(r) : 7r'tg2 r .hz (tg2 :t l2t . '*Í ) ,\ coszrl
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2 .sinz.cosz

I'\:t)=@;
,-2

f'(d :2arctl x3 . u* 
= 

." l+ra

*2:r .sinr2
rn) ft(r) =

n)

o)

('- *) 
'

p)

q)

r)

s)

r)

;u)

w)

w)


